
 ∉°♦≡↑ ∨±÷∂±≡≡↑∂±÷ √±↔≡↑±↔∂°±≥ ⇔≡…≡″≡↑  ♦♦♦〉∉°♦≡↑∨±÷∂±≡≡↑∂±÷√±↔〉…°″

⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

⇒± °≥≈ ↔°°≥ 
↑≡≈∂←…°♥≡↑≡≈ ↔° ≈≈↑≡←← 

±≡♦ ÷↑∂≈ …•≥≥≡±÷≡←
⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑ ↔≡…•±°≥°÷ƒ ∂← ≡±∝°ƒ∂±÷  ↑≡∂↑↔• ≡…♠←≡⌠ ← ″°↑≡ 
↑≡±≡♦≥≡← ↑≡ ∂±↔≡÷↑↔≡≈ ↔° ÷↑∂≈←⌠ ∂↔ ∂← °±≡ °≠ ↔•≡ ″°←↔ ≡≠≠≡…↔∂♥≡ ″≡±← ↔° 
″∂±↔∂± ÷↑∂≈ →♠≥∂↔ƒ ±≈ ≠♠≥↔ ←♠↓↓°↑↔⌠ ♦↑∂↔≡← ⇐← ⊂∞° 


±ƒ …°♠±↔↑∂≡← ±°♦ 

≠…≡  ↔↑∂≥≡″″ °≠ 

↑∂←∂±÷ ≡≥≡…↔↑∂…∂↔ƒ ↓↑∂…≡← 

♥≡↑←♠← …°″↓≥∂±…≡ 

♦∂↔• ∂±↔≡↑±↔∂°±≥ 

÷↑≡≡±•°♠←≡ ÷← 

…°″″∂↔″≡±↔← ♥≡↑←♠← ≥…× °≠ ÷↑∂≈ ↑≡←∂≥∂≡±…≡⌠ 

↑≡≥∂∂≥∂↔ƒ⌠ ±≈ ♥∂≥∂≥∂↔ƒ〉

⇒ ↓°↔≡±↔∂≥ ±←♦≡↑ …°♠≥≈ ≡ ←ƒ±…•↑°±°♠← 

…°±≈≡±←≡↑← ⊂⇐← °↑ …°″↓≡±←↔°↑←⌠   ↑≡∂↑↔• 

↔≡…•±°≥°÷ƒ ↔•↔ ∂← ≡…°″∂±÷ ∂″↓°↑↔±↔ 

÷∂± ← °±≡ °≠ ↔•≡ ″°←↔ ≡≠≠≡…↔∂♥≡ ″≡±← ↔° 

″∂±↔∂± ÷↑∂≈ →♠≥∂↔ƒ⌠ ≠♠≥↔ ↑∂≈≡∫↔•↑°♠÷• ±≈ 

≠♠≥↔  ←♠↓↓°↑↔⌠  ♦•∂…•  ∂←  ≡←←≡±↔∂≥  ∂±  °↑≈≡↑  ↔°  

″∂±↔∂± ≡≥≡…↔↑∂…∂↔ƒ ←♠↓↓≥ƒ〉 

⊄•≡ ↑≡←°± ≠°↑ ↔•∂← ↑≡∂↑↔• ∂← ↔•↔ ↔•≡ 

∂±…↑≡←∂±÷ ↓≡±≡↔↑↔∂°± °≠ ↑≡±≡♦≥≡← ←°≥↑ 

±≈ ♦∂±≈ ∂± ↔•≡ ≡±≡↑÷ƒ ″∂♣ ∂← ♠±≠°↑↔♠±↔≡≥ƒ 

↑≡≈♠…∂±÷ ↔•≡ ↑≡←∂≥∂≡±…≡ ±≈ ←↔∂≥∂↔ƒ °≠ 

≡≥≡…↔↑∂…∂↔ƒ ±≡↔♦°↑×←〉  ⊄•∂← ∂← ≡…♠←≡ ↔•≡←≡ ±≡♦ 

≡±≡↑÷ƒ ↑≡←°♠↑…≡← ↑≡ ∂±•≡↑≡±↔≥ƒ ∂±↔≡↑″∂↔↔≡±↔ 

±≈ ♥↑∂≥≡〉 ∧♠↑↔•≡↑″°↑≡⌠ ↔•≡ƒ ≥…× ↔•≡ 

…↓∂≥∂↔ƒ ↔° ←♠↓↓°↑↔ °↑ ↔°≥≡↑↔≡ ↔•≡ ≠♠≥↔← ↔•↔ 

…± °……♠↑ °± ≡≥≡…↔↑∂…∂↔ƒ ±≡↔♦°↑×←〉 ⊂⇐← …± 

←•°↑↔…°″∂±÷← ±≈⌠ ∂± ↔•≡ ≠♠↔♠↑≡ ∂↔ ∂← ≡♣↓≡…↔≡≈ 

↔•≡ƒ  ♦∂≥≥  •≡≥↓  ↔°  ″∂↔∂÷↔≡  ±≡↔♦°↑×  ∂←←♠≡←  ±≈ 

≡±•±…≡ ↔•≡ ↑≡≥∂∂≥∂↔ƒ °≠ ↓°♦≡↑ ←♠↓↓≥∂≡←〉

⇒♠←↔↑≥∂ •← ↓↑↔∂…♠≥↑ ≡♣↓≡↑∂≡±…≡ °≠ 

↔•≡←≡ …•≥≥≡±÷≡←〉 ⊄•≡ …°♠±↔↑ƒ •←  ♥≡↑ƒ ≥°±÷ 

←↔↔≡←⌠  ±≈  ↔•≡  ↑≡≥↔∂♥≡≥ƒ  ←″≥≥  ≥≡♥≡≥←  °≠  °↔•  

÷≡±≡↑↔∂°± ±≈ …°±←♠″↓↔∂°± ↑≡ ←…↔↔≡↑≡≈ 

…↑°←← ≥∂÷•↔≥ƒ ↓°↓♠≥↔≡≈ ↑≡←〉 √± ←°″≡ 

≥°…↔∂°±← ↑≡±≡♦≥≡← ↑≡↓↑≡←≡±↔ °♠↔  ↓≡↑ 

…≡±↔  °≠  ↔•≡  ≡±≡↑÷ƒ  ″∂♣  ♦∂↔•  ↓≥±←  ≠°↑  ↔•∂←  ↔°  

∂±…↑≡←≡〉 ⊄•≡ …°″∂±↔∂°± °≠ ↔•≡ ≡≠≠≡…↔← ≠↑°″ 

≥°♦ ↓°↓♠≥↔∂°± ≈≡±←∂↔ƒ ±≈  •∂÷• ≥≡♥≡≥ °≠ 

↑≡±≡♦≥≡ ↓≡±≡↔↑↔∂°± …↑≡↔≡← ± ∂±↔≡↑≡←↔∂±÷ 

←∂↔♠↔∂°±⌠ ♦•∂…• °≠≠≡↑← ♠←≡≠♠≥ ≡♣↓≡↑∂≡±…≡ ≠°↑ 

°↔•≡↑ ↑≡÷∂°±← °≠ ↔•≡ ♦°↑≥≈〉

⊄•≡ ←↔↔≡ °≠ ±≡↔♦°↑×← ↔°≈ƒ

∇≡♦  ←°♠↑…≡←  °≠  ≡≥≡…↔↑∂…≥  ↓°♦≡↑  �  ↓↑∂″↑∂≥ƒ  

♦∂±≈ ±≈ ←°≥↑ � ↑≡ ♥≡↑ƒ ≈∂≠≠≡↑≡±↔ ↔° ↔↑≈∂↔∂°±≥ 

≥↑÷≡ ↑°↔↔∂±÷ ÷≡±≡↑↔°↑←〉 ⊄•≡ƒ ↓↑≡←≡±↔ ±≡♦ 

…•≥≥≡±÷≡← ≠°↑ ↓°♦≡↑ ±≡↔♦°↑×← ∂± ↔≡↑″← °≠ ↔•≡∂↑ 

…°″↓≥≡♣∂↔ƒ ±≈ ≡•♥∂°♠↑〉

⊄°≈ƒ�← ±≡↔♦°↑×← …± ≡♣↓≡↑∂≡±…≡ ″±ƒ 

≈∂≠≠≡↑≡±↔ ↔ƒ↓≡← °≠ ≠♠≥↔← °↑ ♠±♦±↔≡≈ ↔↔↑∂♠↔≡←⌠ 

≥∂×≡ ♥°≥↔÷≡ ←÷←⌠ ∂±↔≡↑↑♠↓↔∂°±←⌠ ←♦≡≥≥←⌠ ↔↑±←∂≡±↔← 

±≈ ≠↑≡→♠≡±…ƒ ≈≡♥∂↔∂°±←〉 ⊄•≡←≡ …± ≡ ♥≡↑ƒ 

≈″÷∂±÷ ≠°↑ ←≡±←∂↔∂♥≡ ≡→♠∂↓″≡±↔ …♠←∂±÷ 

″≥≠♠±…↔∂°±← ±≈ ≡♥≡± ↔•≡ ←•♠↔≈°♦± °≠ 

≡←←≡±↔∂≥ ←≡↑♥∂…≡←〉

√± ↔•≡ …←≡ °≠ ∂±↔≡↑″∂↔↔≡±↔ ↑≡±≡♦≥≡ 

÷≡±≡↑↔∂°±⌠ ±≡↔♦°↑× →♠≥∂↔ƒ ±≈ ↑≡≥∂∂≥∂↔ƒ 

⇒⇐ ↓°♦≡↑ ≠≡≈ ∂±↔° ↔•≡ ±≡↔♦°↑× ∂← ←ƒ±↔•≡←∂∞≡≈ 

≠↑°″  ⇔⇐ ←°♠↑…≡〉 ∧°↑ ≡♣″↓≥≡⌠ ∂± ↔•≡ …←≡ °≠ 

 ←°≥↑ ≠↑″⌠ ↔•≡ ∂±♥≡↑↔≡↑ ↔•↔ …°±♥≡↑↔← ↔•≡ ⇔⇐ 

↓°♦≡↑ ↔° ↔↑♠≡  ⋅∞ ⇒⇐ ♦∂≥≥ ≡ ←∂″↓≥ƒ ←♦∂↔…•≡≈ 

°≠≠ ƒ ∂↔← ↓↑°↔≡…↔∂°±⌠ ∂≠ ↔•≡ ±≡↔♦°↑× ↓↑″≡↔≡↑← 

≈∂≠≠≡↑ ≠↑°″ ↔•°←≡ ≡♣↓≡…↔≡≈ °↑ ↓↑°÷↑″″≡≈ ∂± 

↔•≡ ♠±∂↔〉 ⊄•≡↑≡ ∂← ±° ↑∂≈≡∫↔•↑°♠÷• …↓∂≥∂↔ƒ〉

⇒← ↔•≡ ↓≡±≡↔↑↔∂°± °≠ ±≡♦ �←ƒ±↔•≡↔∂…� ↓°♦≡↑ 

÷≡±≡↑↔∂°± ∂← ∂±…↑≡←∂±÷ ∂± ↔•≡ ↓°♦≡↑ ″∂♣⌠ ±≈ 

↔•≡ ±♠″≡↑ °≠  ↔↑≈∂↔∂°±≥ •∂÷• ∂±≡↑↔∂ ↑°↔↔∂±÷ 

÷≡±≡↑↔°↑← ∂← ≈≡…↑≡←∂±÷⌠ ±≡↔♦°↑× ↑≡←∂≥∂≡±…≡ 

∂← …°″↓↑°″∂←≡≈〉 √≠⌠ ∂± ↔•≡ °♥≡∫″≡±↔∂°±≡≈ 

≡♣″↓≥≡⌠ ↔•≡ ∂±♥≡↑↔≡↑ ∂← ≠…≡≈ ♦∂↔• ± ≡♣↔≡↑±≥ 

±≡↔♦°↑× ≠♠≥↔⌠ ∂↔ ♦∂≥≥ ±°↔ ≡ ≥≡ ↔° •≡≥↓ ↔•≡ 

±≡↔♦°↑× ↔° ↑≡…°♥≡↑⌠ ♦∂≥≥ ±°↔ ←♠↓↓≥ƒ ↔•≡ ±≡≡≈≡≈ 

↑≡…↔∂♥≡ ↓°♦≡↑ ±≈ …±±°↔ ↑∂≈≡ ↔•↑°♠÷•〉

∪•↔ ∂←  ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑◊

⇒± ⊂⇐ ∂←  ←ƒ±…•↑°±°♠← ″…•∂±≡⌠ ±°↔  ″°↔°↑ 

←  ±°↔•∂±÷  ∂←  ≈↑∂♥≡±  ±≈  ±°↔    ÷≡±≡↑↔°↑  

←  ↔•≡↑≡  ∂←  ±°  ↓↑∂″≡  ″°♥≡↑〉  ⋅°♦≡♥≡↑⌠  ∂↔  ∂←  

♥≡↑ƒ  ←∂″∂≥↑  ↔°    ÷≡±≡↑↔°↑  ∂±  ∂↔←  ≈≡←∂÷±  ±≈  

≡•♥∂°♠↑〉 ⇒±≈⌠ ∂↔ ≈°≡← ↓↑°≈♠…≡ ↑≡…↔∂♥≡ 

↓°♦≡↑〉 ⇒←  ↑°↔↔∂±÷ ≡≥≡…↔↑∂… ″…•∂±≡⌠ ∂↔ ∂←  

♥≡↑ƒ  ↔↑≈∂↔∂°±≥  ≈≡♥∂…≡〉  √±  ↔•≡  ↓←↔⌠  ⊂⇐←  ♠←≡≈ 

⇒ �↑≡∂↑↔• ↔≡…•±°≥°÷ƒ� ≡…°″≡← ∂″↓°↑↔±↔ ÷∂±

⇐↑≡≈∂↔∑ ⇒⇑⇑



♦♦♦〉∉°♦≡↑∨±÷∂±≡≡↑∂±÷√±↔〉…°″ ∉°♦≡↑ ∨±÷∂±≡≡↑∂±÷ √±↔≡↑±↔∂°±≥ ⇔≡…≡″≡↑ 

⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

↔° ≡ ↓↓≥∂≡≈ ← …°″↓≡±←↔°↑← ↔° ↓↑°≈♠…≡ 

↑≡…↔∂♥≡ ↓°♦≡↑⌠ ≥±…∂±÷ °♠↔ •∂÷•≥ƒ ∂±≈♠…↔∂♥≡ 

≥°≈←⌠ ≥∂×≡ ∂±≈♠…↔∂°± ″°↔°↑←〉

⊄•≡ ↔ƒ↓∂…≥ ♠←≡↑← °≠ ←ƒ±…•↑°±°♠←  

…°±≈≡±←≡↑← ↑≡ ≡≥≡…↔↑∂…≥ ♠↔∂≥∂↔∂≡← ±≈ 

•≡♥ƒ ∂±≈♠←↔↑∂≡← ↔•↔ °↓≡↑↔≡ ↔↑±←″∂←←∂°±⌠ 

≈∂←↔↑∂♠↔∂°± °↑ ∂±≈♠←↔↑∂≥ ↓°♦≡↑ ÷↑∂≈←〉 ⇒≠↔≡↑ 

″±ƒ  ƒ≡↑←  ♦•≡±  ↔•≡↑≡  •←  ≡≡±  ±°  

∂±↔≡↑≡←↔⌠  ⇒⇑⇑ •← ↑≡…≡±↔≥ƒ ↑≡…≡∂♥≡≈ ″♠≥↔∂↓≥≡ 

↑≡→♠≡←↔← ≠°↑ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑← ≠↑°″ 

÷↑∂≈ °↓≡↑↔°↑← ±≈ ♠↔∂≥∂↔∂≡←〉 √″↓°↑↔±↔ ≈↑∂♥≡↑← 

≠°↑ ↔•∂← ≈≡♥≡≥°↓″≡±↔ ∂±…≥♠≈≡ ↔•≡ ≥↑÷≡∫←…≥≡ 

∂±↔≡÷↑↔∂°± °≠ ♦∂±≈ ±≈ ←°≥↑ ↓°♦≡↑ ← ♦≡≥≥ 

← ↔•≡ ∂±↔↑°≈♠…↔∂°± °≠ ←″↑↔ ÷↑∂≈ ↔≡…•±°≥°÷∂≡← 

∂± ±≡↔♦°↑×←〉 √±  ♦ƒ⌠ ♠↔∂≥∂↔∂≡← ↑≡ …♠↑↑≡±↔≥ƒ 

←ƒ±…•↑°±°♠← …°±≈≡±←≡↑ ↔≡…•±°≥°÷ƒ ±≈ ↑≡ 

±≡↔♦°↑×←〉

⊄•≡ ≈≡…∂←∂°± ↔° ♠←≡  ←ƒ±…•↑°±°♠← 

…°±≈≡±←≡↑ ∂±  ↑≡…↔∂♥≡ ↓°♦≡↑ ∂±←↔≥≥↔∂°± ∂← 

♠←♠≥≥ƒ ←≡≈ °± ≡♣↔≡±←∂♥≡ ↓↑≡∫←↔♠≈∂≡←⌠ ±≈ 

∂↔←  ←≡≥≡…↔∂°±  …±±°↔  ≡  ±↑↑°♦≡≈  ≈°♦±  ↔°  

°±≡ ←∂±÷≥≡ ↑≡←°±〉 ⊄•≡ ↑≡←°±← ≠°↑ ←≡≥≡…↔∂±÷ 

←ƒ±…•↑°±°♠←  …°±≈≡±←≡↑←  …±  ↔•≡↑≡≠°↑≡  ♥↑ƒ  

←…≡±↑∂°← ♦•≡↑≡ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

…°♠≥≈ ≡ ♠←≡≠♠≥ ↑≡ ≈≡←…↑∂≡≈ ≡≥°♦〉 

� ∇≡↔♦°↑×← ♦∂↔• ≥↑÷≡ ″°♠±↔← °≠ 

∂±↔≡↑″∂↔↔≡±↔ ↓°♦≡↑ ÷≡±≡↑↔∂°± 

⊄•≡ ∂±↔≡↑″∂↔↔≡±↔ ±≈ •∂÷•≥ƒ ♥↑∂≥≡ ±↔♠↑≡ 

°≠ ♦∂±≈ ±≈ ←°≥↑ ↓°♦≡↑ ∂±↔↑°≈♠…≡← 

←↔↑≡←←≡← °± ↓°♦≡↑ ←ƒ←↔≡″← ±≈ ≈ƒ±″∂… 

↑≡…↔∂♥≡ ↓°♦≡↑ …°″↓≡±←↔∂°± ∂← ±≡≡≈≡≈ ↔° 

≡±←♠↑≡ ←≡…♠↑≡ °↓≡↑↔∂°±〉 ±ƒ ↑≡±≡♦≥≡ 

↑≡←°♠↑…≡← ↑≡ ↑≡″°↔≡≥ƒ ≥°…↔≡≈ ±≈ ≠≡≡≈ 

↓°♦≡↑ ∂±↔°  ←∂±÷≥≡ ↑≈∂≥ ≥∂±≡〉 ⊂ƒ±…•↑°±°♠← 

…°±≈≡±←≡↑← …± ≡ ∂±←↔≥≥≡≈ …≥°←≡ ↔° 

↔•≡ …°±±≡…↔∂°± ↓°∂±↔ ↔° ←↔↑≡±÷↔•≡± ↔•≡ 

÷↑∂≈ ♦∂↔• ≈≈∂↔∂°±≥ ←•°↑↔∫…∂↑…♠∂↔ ↓°♦≡↑〉 

⊄•∂← ∂″↓↑°♥≡← °↔• ↔•≡ ≠♠≥↔ ↑∂≈≡∫↔•↑°♠÷• 

…↓∂≥∂↔ƒ °≠ ↔•≡ ↓°♦≡↑ ∂±←↔≥≥↔∂°± ∂↔←≡≥≠ ±≈ 

↓↑°♥∂≈≡← ≈≈∂↔∂°±≥ ♥°≥↔÷≡ ←↔∂≥∂↔ƒ〉

� ∉•←∂±÷ °♠↔ ≠°←←∂≥∫≠♠≡≥≥≡≈ ↓≥±↔← 

…°♠±↔↑∂≡←⌠ ±♠…≥≡↑ ↓°♦≡↑ ↓≥±↔← ↑≡ ≡∂±÷ 

↓•←≡≈ °♠↔〉 √± ″±ƒ …←≡←⌠ ↔•≡ƒ ↑≡ 

±°↔ ≡∂±÷ ↑≡↓≥…≡≈〉 ⇒← ↔•≡ ←ƒ±…•↑°±°♠← 

÷≡±≡↑↔°↑← ↔ ↔•≡←≡ ≥°…↔∂°±← •♥≡ ≡≡± 

°≠ ←•°↑↔∫…∂↑…♠∂↔ ↓°♦≡↑⌠ ←∂″↓≥ƒ ↑≡″°♥∂±÷ ↔•≡″ 

♦°♠≥≈ ↓♠↔ ↔•≡ ←↔∂≥∂↔ƒ °≠ ↔•≡ ≈∝…≡±↔ 

±≡↔♦°↑× ↔ ↑∂←×〉 ⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

↑≡ ↔•≡↑≡≠°↑≡ ±≡≡≈≡≈ ↔° ″∂±↔∂± ↔•≡ ←•°↑↔∫

…∂↑…♠∂↔ …↓…∂↔ƒ °≠ ↔•≡ ÷↑∂≈ ≠↔≡↑ ↔•≡ ↑≡″°♥≥ 

°≠ ↔•≡ •∂÷• ∂±≡↑↔∂ ↑°↔↔∂±÷ ÷≡±≡↑↔°↑←〉 

� √±↔≡↑″∂↔↔≡±↔ ∂±≈♠←↔↑∂≥ ↓↑°…≡←←≡← 

←≡←°±≥ …•±÷≡← ∂± ≈≡″±≈ 

⋅≡♥ƒ ∂±≈♠←↔↑∂≡← ∂± …≡↑↔∂± ↑≡← …± 

±≡↔♦°↑×〉 ⊄° ←↔↑≡±÷↔•≡± ↔•≡ ←•°↑↔∫…∂↑…♠∂↔ 

…↓…∂↔ƒ °≠ ↔•≡←≡ ↔ƒ↓≡← °≠ ±≡↔♦°↑×←⌠  

←ƒ±…•↑°±°♠← …°±≈≡±←≡↑ ″ƒ ≡ ♠←≡≈ ← 

∂↔ ♦∂≥≥ °°←↔ ♥°≥↔÷≡ ±≈ ←♠↓↓≥ƒ ↑≡…↔∂♥≡ 

♥↑∂↔∂°±← ∂± ↓°♦≡↑ ≈≡″±≈ …°♠≥≈ ≥←° 

…↓…∂↔ƒ ±≈ ♥°≥↔÷≡ ←↔∂≥∂↔ƒ ″↑÷∂±← 

∂±↔↑°≈♠…≡≈ ƒ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑←〉

� °±÷ ≈∂←↔±…≡← ≡↔♦≡≡± 

↓↑°≈♠…↔∂°± ±≈ …°±←♠″↓↔∂°± 

√± ←°″≡ ↓°♦≡↑ ÷↑∂≈←⌠ ↔•≡ ↓•ƒ←∂…≥ ≈∂←↔±…≡ 

≡↔♦≡≡± ↓°♦≡↑ ↓≥±↔← ±≈ ″∝°↑ ≥°≈ 

…≡±↔↑≡← …± ≡ ←♠←↔±↔∂≥〉 ⊄ƒ↓∂…≥≥ƒ⌠ 

↑≡…↔∂♥≡ ↓°♦≡↑ ←•°♠≥≈ ≡ ↓↑°≈♠…≡≈ ≥°…≥≥ƒ 

↔° ″∂±∂″∂∞≡ ↔•≡ ≥°←←≡← ←←°…∂↔≡≈ ♦∂↔• ≥°±÷ 

≈∂←↔±…≡ ↓°♦≡↑ ↔↑±←″∂←←∂°±〉 °…≥ ↑≡…↔∂♥≡ 

↓°♦≡↑ ÷≡±≡↑↔∂°± ≥←° ≡±←♠↑≡← ↔•≡ °↓↔∂″≥ 

♠↔∂≥∂∞↔∂°± °≠ ↔•≡ ↓°♦≡↑ ≥∂±≡←〉 ⇒ ←ƒ±…•↑°±°♠← 

…°±≈≡±←≡↑ …± ≡≠≠≡…↔∂♥≡≥ƒ …°″↓≥≡″≡±↔ 

↔•≡ ≠←↔∫°↓≡↑↔∂±÷ ←↔↔∂… ⊃⇒↑∫…°″↓≡±←↔∂±÷ 

≈≡♥∂…≡← ↔ ↑≡″°↔≡ ←∂↔≡← ♦•≡↑≡ ♥°≥↔÷≡ 

…°≥≥↓←≡ ″♠←↔ ≡ ♥°∂≈≡≈ ↔ ±ƒ …°←↔〉 

⇒± ∂″↓°↑↔±↔ ≠≡↔♠↑≡ °≠ ⊂⇐← ∂← ↔•↔ ↔•≡∂↑ 

↑≡≥↔∂♥≡≥ƒ ←″≥≥ ←∂∞≡ ≥≥°♦← ∂±←↔≥≥↔∂°± …≥°←≡ 

↔° ↔•≡ ↑≡→♠∂↑≡≈ ↓°∂±↔ ∂± ↔•≡ ±≡↔♦°↑× ♦•≡↑≡ 

″♣∂″∂∞≡≈〉

⋅∂←↔°↑∂…≥≥ƒ⌠ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑← •♥≡ 

↓≥ƒ≡≈ ± ∂″↓°↑↔±↔ ↑°≥≡ ← …°±↔↑°≥≥≥≡ 

←°♠↑…≡← °≠ ↑≡…↔∂♥≡ ↓°♦≡↑ ↔ °↔• ↔•≡ 

↔↑±←″∂←←∂°± ±≈ ≈∂←↔↑∂♠↔∂°± ±≡↔♦°↑× 

≥≡♥≡≥←〉 ⊄°≈ƒ⌠ •°♦≡♥≡↑⌠ ↓°♦≡↑∫≡≥≡…↔↑°±∂…←∫

←≡≈ ←↔↔∂… ≈≡♥∂…≡← ←♠…• ← ⊂⊃⇐← ←↔↔∂… 

⊃⇒↑ …°″↓≡±←↔°↑← °↑ ⊂⊄⇒⊄⇐∠← ←↔↔∂… 

←ƒ±…•↑°±°♠← …°″↓≡±←↔°↑← ≈°″∂±↔≡ ↔•∂← 

″↑×≡↔⌠ °♦∂±÷ ↔° ↔•≡∂↑ ←♠↓≡↑∂°↑ …°±↔↑°≥≥∂≥∂↔ƒ⌠ 

≈≡♥∂…≡← ″ƒ ≡ ≥≡ ↔° ↓♠←•  •∂÷• ″°♠±↔ °≠ 

↑≡…↔∂♥≡ ↓°♦≡↑ ↔•↑°♠÷• …↓…∂↔∂♥≡ °↓≡↑↔∂°± 

∂±↔° ↔•≡ ⋅⊃ •∂÷• ♥°≥↔÷≡ ÷↑∂≈ ←° ↔•↔ ↔•≡ 

♥°≥↔÷≡ ♦∂≥≥ ±°↔ ÷° ≈°♦± ↔° ∞≡↑° ±≈ ↔•≡ ≠♠≥↔ 

″ƒ ≡ …≥≡↑≡≈〉 ⋅°♦≡♥≡↑⌠ ∂± ≈°∂±÷ ←°⌠ ↔•≡ƒ ♦∂≥≥ 

←≡≡  ←♦∂±÷ °≠ °♥≡↑∫♥°≥↔÷≡ ♦•∂…• ↔•≡± ″♠←↔ 

≡ …≥≡↑≡≈ ↔•↑°♠÷• ∂±≈♠…↔∂♥≡ °↓≡↑↔∂°±〉 √≠ ↔•≡ 

⋅⊃ ÷↑∂≈ ←•°♠≥≈ ÷° ≈°♦± ↔° ∞≡↑° ↔•≡± ≥≥ ↔ƒ↓≡← 

°≠ ←↔↔∂… ≈≡♥∂…≡← ♦∂≥≥ ±°↔ ≡ ≥≡ ↔° …≥≡↑ ↔•≡ 

≠♠≥↔ ±≈ ♦∂≥≥ ±°↔ ↑∂≈≡ ↔•↑°♠÷•〉

√± …°±↔↑←↔ ↔° ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑←⌠ 

←↔↔∂… ≈≡♥∂…≡← ≈° ±°↔ ↓↑°♥∂≈≡ ≈≈∂↔∂°±≥ 

←ƒ←↔≡″ ←•°↑↔ …∂↑…♠∂↔ …↓…∂↔ƒ〉 ⇐°″↓↑≡≈ 

♦∂↔• ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑←⌠ ↔•≡ƒ ↑≡ 

≥←°  ←°″≡♦•↔  ≥≡←←  ≡≠≠≡…↔∂♥≡  ∂±  ←♠↓↓≥ƒ∂±÷  

↑≡…↔∂♥≡  ↓°♦≡↑  ≈♠↑∂±÷  ≥°♦  ♥°≥↔÷≡  ♥°≥↔÷≡  

←÷ …°±≈∂↔∂°±←⌠ ← ↔•≡∂↑ °♠↔↓♠↔ ∂← ←↔↑°±÷≥ƒ 

…°±±≡…↔≡≈ ↔° ↔•≡ ±≡↔♦°↑× ♥°≥↔÷≡ ≥≡♥≡≥〉 ⇒±≈ 

↔•≡ƒ •♥≡ ±° ↑∂≈≡∫↔•↑°♠÷• …↓∂≥∂↔ƒ〉

⊄° ≈≈↑≡←← ±≡↔♦°↑× ∂←←♠≡← ↔•≡↑≡ ↑≡ ″±ƒ 

♦ƒ← ↔° ″∂↔∂÷↔≡ ↔•≡ ÷∂♥≡± ←∂↔♠↔∂°±〉 ⊄•≡ ↔≥≡ 

≡≥°♦  ≥∂←↔←  ↔•≡  ↓↑°≥≡″←  ±≈  ←•°♦←  ♥↑∂°♠←  

≈≡♥∂…≡← ♦•∂…• …± ≡ …°±←∂≈≡↑≡≈〉 ⊂⇐← •♥≡ 

 ♥≡↑ƒ ↑°≈ …°♥≡↑÷≡ °≠ ∂←←♠≡←〉

°≠ ∂±…↑≡←≡≈ ←•°↑↔∫…∂↑…♠∂↔ …↓…∂↔ƒ ↔↔↑∂♠↔≡≈ 

←•°♦ ↑≡←♠≥↔← °≠  ←∂″♠≥↔∂°± °≠ ↔•≡ °↓≡↑↔∂°± 

°≠  ♠↔∂≥∂↔ƒ ÷↑∂≈ ♦•≡↑≡ ↔•↑≡≡ ←ƒ±…•↑°±°♠← 

⊄ƒ↓∂…≥ ↓°♦≡↑ →♠≥∂↔ƒ ↓↑°≥≡″← ±≈ ♥∂≥≥≡ ″∂↔∂÷↔∂°± ≈≡♥∂…≡←

∂↔∂÷↔∂°± 

≈≡♥∂…≡←

⊃°≥↔÷≡ 

←÷←

⊃°≥↔÷≡ 

≠≥♠…↔♠↔∂°±←

∠♥≡↑ 

♥°≥↔÷≡

⊇±≈≡↑ 

♥°≥↔÷≡

√±↔≡↑∫

↑♠↓↔∂°±← ⊂♦≡≥≥← ⊄↑±←∂≡±↔← ⋅↑″°±∂…← ∇°↔…•≡←

∧♠≥↔  

↑∂≈≡ ↔•↑♠

⊂•°↑↔ …∂↑…♠∂↔ 

…°±↔↑∂♠↔∂°±

⇒∉∧ ⊄∧ ♣ ♣ ♣

⇑∨⊂⊂ ♣ ♣ ♣ ♣ ♣ ♣ ♣

⇔⊂⊄⇒⊄⇐∠ ♣ ♣ ♣ ♣ ♣

⇔⊂⇐ ♣ ♣

⇔⊃⊆ ♣ ♣ ♣ ♣ ♣ ♣

∉∧⇐⇐ ♣ ♣

⊂⇒ ♣

⊂⇐ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣

⊂∨⊂ ♣ ♣ ♣ ♣ ♣ ♣ ♣

⊂∨⊄⇐ ♣ ♣ ♣ ♣

⊂⊂⊄⊂ ♣ ♣ ♣

⊂⊂⇐⇑ ♣

⊂⊃⇐ ♣ ♣ ♣ ♣ ♣

⊄⇐⊂ ♣ ♣

⊇∉⊂ ♣ ♣ ♣ ♣ ♣

⇒∉∧  ⇒…↔∂♥≡ ↓°♦≡↑ ≠∂≥↔≡↑

⇑∨⊂⊂  ⇑↔↔≡↑ƒ ≡±≡↑÷ƒ ←↔°↑÷≡ ←ƒ←↔≡″

⇔⊂⊄⇒⊄⇐∠  ⇔∂←↔↑∂♠↔∂°± ←↔↔∂… ←ƒ±…•↑°±°♠← …°″↓≡±←↔°↑

⇔⊂⇐  ⇔∂←↔↑∂♠↔∂°± ←≡↑∂≡← …↓…∂↔°↑

⇔⊃⊆  ⇔ƒ±″∂… ♥°≥↔÷≡ ↑≡←↔°↑≡↑

∉∧⇐⇐  ∉°♦≡↑ ≠…↔°↑ …°↑↑≡…↔∂°± …↓…∂↔°↑

⊂⇒  ⊂♠↑÷≡ ↑↑≡←↔≡↑

⊂⇐  ⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑ ↑°↔↔∂±÷

⊂∨⊂  ⊂♠↓≡↑…°±≈♠…↔∂±÷ ″÷±≡↔∂… ≡±≡↑÷ƒ ←↔°↑÷≡ ←ƒ←↔≡″

⊂∨⊄⇐  ⊂↔↔∂… ≡≥≡…↔↑°±∂… ↔↓ …•±÷≡↑

⊂⊂⊄⊂  ⊂°≥∂≈∫←↔↔≡ ↔↑±←≠≡↑ ←♦∂↔…•

⊂⊂⇐⇑  ⊂°≥∂≈∫←↔↔≡ …∂↑…♠∂↔ ↑≡×≡↑

⊂⊃⇐  ⊂↔↔∂… ♥↑ …°″↓≡±←↔°↑

⊄⇐⊂  ⊄•ƒ↑∂←↔°↑ ←♦∂↔…•≡≈ …↓…∂↔°↑

⊇∉⊂  ⊇±∂±↔≡↑↑♠↓↔∂≥≡ ↓°♦≡↑ ←♠↓↓≥ƒ

⊂°♠↑…≡∑ ⇒⇑⇑



 ∉°♦≡↑ ∨±÷∂±≡≡↑∂±÷ √±↔≡↑±↔∂°±≥ ⇔≡…≡″≡↑  ♦♦♦〉∉°♦≡↑∨±÷∂±≡≡↑∂±÷√±↔〉…°″

⊂ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

…°±≈≡±←≡↑← •♥≡ ≡≡± ∂±←↔≥≥≡≈ ↔  〉 ×⊃ 

♠← � •≡↑≡ ≈≡←∂÷±↔≡≈ ← ↔•≡ ≡≈∂♠″ ⊃°≥↔÷≡ 

⊃ ♠←〉 ⊄•≡ƒ ↑≡ ≡≥≡…↔↑∂…≥≥ƒ …°±±≡…↔≡≈ ↔° 

 ↔↑±←″∂←←∂°± ≥≡♥≡≥ ♠←  ×⊃ ♥∂ ←↔≡↓∫♠↓ 

↔↑±←≠°↑″≡↑←〉  ⊄•≡    ×⊃  ♠←  ∂←  ↑≡≠≡↑↑≡≈  ↔°  ←  

↔•≡ ⋅∂÷• ⊃°≥↔÷≡ ⋅⊃ ⇑♠←〉 ⇒ ↔•↑≡≡∫↓•←≡ ≠♠≥↔ 

∂← ↓↓≥∂≡≈ …≥°←≡ ↔° ↔•≡ ⋅⊃ ♠←〉 

°±  ↔•≡  ⊃  ♠←  ↔♦°  ≈∂≠≠≡↑≡±↔  ≥°≈  ←…≡±↑∂°←⌠  

≥♠≡ ±≈ ≥…×⌠ ↑≡ ∂≥≥♠←↔↑↔≡≈〉 

↔°  ↓≡↑ …≡±↔ °≠ ↔•≡ ±°″∂±≥ ♥≥♠≡ °± ↔•≡ ⋅⊃ 

♠← ±≈ ↔°  ↓≡↑ …≡±↔ °≠ ↔•≡ ±°″∂±≥ ♥≥♠≡ 

°± ↔•≡ ⊃ ♠←〉 ⊄•≡ ≥°♦≡↑ ♥°≥↔÷≡ ≈↑°↓ °± ↔•≡ 

⊃ ♠← ∂← ≈♠≡ ↔° ↔•≡ ÷↑∂≈ ←↔↑≡±÷↔•≡±∂±÷ …↔∂°± 

°≠ ↔•≡ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑〉 ⊄•≡ ″∂↔∂÷↔≡≈ 

↔•≡ ≥∂×≡≥∂•°°≈ ↔•↔ ↔•≡ …°±±≡…↔≡≈ ≡≥≡…↔↑∂…≥ 

≡→♠∂↓″≡±↔ ∂← ±°↔ ↔↑∂↓↓≡≈ °↑ ≈″÷≡≈ ƒ 

↔•≡ ≠♠≥↔〉 √± ÷≡±≡↑≥⌠ ←ƒ±…•↑°±°♠← …°±≈≡±←≡↑← 

•♥≡  ≡↔↔≡↑ …•±…≡ ↔° ←↔ƒ °±≥∂±≡ ±≈ 

↓↑°♥∂≈≡ ♥°≥↔÷≡ ←♠↓↓°↑↔ ≈♠↑∂±÷ ←≡♥≡↑≡ ≠♠≥↔← 

≥∂×≡ ↔•∂← …°″↓↑≡≈ ↔° °↔•≡↑ ♥↑∫…°″↓≡±←↔∂±÷ 

↔≡…•±°≥°÷∂≡←〉

�  √← ∂↔ ↓°←←∂≥≡ ↔° …°±♥≡↑↔ ♠±♠←≡≈ 

≥↑÷≡ ÷≡±≡↑↔°↑← ∂±↔° ⊂⇐←◊ 

∅≡←⌠ ∂↔ ∂← ↓°←←∂≥≡ ±≈ ↔•≡↑≡ ↑≡ ↓↓≥∂…↔∂°±← 

∂± ♦•∂…• …°±♥≡↑↔≡≈ ÷≡±≡↑↔°↑← ↑≡ ±°♦ 

°↓≡↑↔∂±÷ ← ⊂⇐←〉 ⋅°♦≡♥≡↑⌠ …°″↓↑≡≈ ♦∂↔• 

±≡♦ ≈≡≈∂…↔≡≈ ±≈ °↓↔∂″∂∞≡≈ ⊂⇐← ↔•≡ƒ 

•♥≡ ←°″≡ ≈∂←≈♥±↔÷≡←〉 ⊄•≡ƒ ↑≡ ♠←♠≥≥ƒ 

°≥≈ ♦∂↔• °♠↔≈↔≡≈ ↔≡…•±°≥°÷∂≡←⌠ ÷∂±÷ 

…°″↓°±≡±↔← ±≈ ↑≡→♠∂↑≡ ≥°↔← °≠ ♠♣∂≥≥↑∂≡← 

↔° ↑♠±〉 ⊄•≡∂↑ ←↔↑↔∂±÷ ∂← ↓↑°≥≡″↔∂…〉 °↔← °≠ 

≥°↑∂°♠← ″∂±↔≡±±…≡ ∂← ↑≡→♠∂↑≡≈〉 ⊄•≡ƒ ↑≡ 

♠←♠≥≥ƒ ≥°…↔≡≈ ≥≡←← ≠♥°♠↑≥ƒ⌠ ″ƒ≡ ↔ 

↑≡″°↔≡ ≥°…↔∂°±← …°″↓↑≡≈ ♦∂↔• ⊂⇐← ♦•∂…• 

↑≡ ←″≥≥≡↑⌠ ←∂″↓≥≡↑ ±≈ …± ≡ ∂±←↔≥≥≡≈ ∂± 

±ƒ ↑≡→♠∂↑≡≈ ↓≥…≡〉 ⊄•∂← ↑≡←♠≥↔← ∂± ↑≡≈♠…≡≈ 

↓≡↑≠°↑″±…≡ ±≈ ≡≠≠≡…↔∂♥≡±≡←←〉

∠±  ↔•≡  °↔•≡↑  •±≈⌠  ±≡♦  ⊂⇐←  °≠≠≡↑  ″±ƒ  

≥°…↔∂°± ±≈ …°±←↔↑♠…↔≡≈ ♦∂↔• °↓↔∂″∂∞≡≈ 

≠≡↔♠↑≡← ±≈ …↓≥∂↔∂≡←〉 ⊄•≡∂↑ °↓↔∂″∂∞↔∂°± ∂← 

←≡≈ °± ↔•≡ ↑≡←♠≥↔← °≠  ±≡↔♦°↑× ←↔♠≈ƒ⌠ ♠←♠≥≥ƒ 

↓≡↑≠°↑″≡≈  ƒ  ±≡↔♦°↑×  °♦±≡↑←  °↑  ↔•∂↑≈  ↓↑↔ƒ  

…°±←♠≥↔±↔←〉 ⊄•≡ƒ ♠←≡ ↔•≡ ≥↔≡←↔ ″±♠≠…↔♠↑∂±÷ 

↔≡…•±°≥°÷ƒ ±≈ ″↔≡↑∂≥← ±≈ ″°←↔ ″°≈≡↑± 

…°±↔↑°≥ ≡→♠∂↓″≡±↔ ±≈ …°″″♠±∂…↔∂°±〉 

∂±↔≡±±…≡ ↑≡→♠∂↑≡″≡±↔← ↑≡ ♥≡↑ƒ ≥°♦⌠ ← 

↔•≡ƒ ↑≡ ←∂″↓≥≡↑ ±≈ ←″≥≥≡↑ ↔•± ↔↑≈∂↔∂°±≥ 

↓°♦≡↑ ÷≡±≡↑↔°↑←〉 ⊇←♠≥≥ƒ ↔•≡ƒ ↑≡ ↓↓≥∂≡≈ 

←  ↔♦°  °↑  ″°↑≡  ←″≥≥≡↑  ♠±∂↔←⌠  ↔•≡↑≡ƒ  ÷∂♥∂±÷  

↑≡→♠∂↑≡≈ ↑≡≈♠±≈±…ƒ〉

� ⋅°♦ ∂← ↔•≡ ⊂⇐ ←↔↑↔≡≈◊ 

↑÷≡ ←ƒ±…•↑°±°♠← ″…•∂±≡← …± ≡ 

←↔↑↔≡≈ ƒ  ≠↑≡→♠≡±…ƒ …°±♥≡↑↔≡↑⌠ ≈∂↑≡…↔ 

°±≥∂±≡ °↑ � ↔•≡ ″°←↔ ∂≈≡≥ ♦ƒ � ƒ  

↓°±ƒ ″°↔°↑〉 ⊄•∂← ≥≥°♦← ↔•≡ ⊂⇐ ↔° ≡ 

≈≡←∂÷±≡≈ ♦∂↔•°♠↔ ↔•≡ …°±←↔↑∂±↔← °≠ ←↔↑↔♠↓ 

…°±←∂≈≡↑↔∂°±←〉 ⇒ ←″≥≥ ↓°±ƒ ″°↔°↑ °≠ 

°♠↔ � ×∪ ∂← …°♠↓≥≡≈ ↔° ↔•≡ ⊂⇐ ±≈ 

∂← ←♠↓↓≥∂≡≈ ƒ  ≠↑≡→♠≡±…ƒ …°±♥≡↑↔≡↑ ♦•∂…• 

∂← ←≡↔ ♠↓ ≠°↑  ≠≡♦ ″∂±♠↔≡← ←↔↑↔ ♠↓ ↑″↓ 

♦•∂…• ♦∂≥≥ ↑∂±÷ ↔•≡ ←↓≡≡≈ °≠ ↔•≡ ⊂⇐ ∂±↔° 

←ƒ±…•↑°±°♠← °↓≡↑↔∂°±⌠ ♠←♠≥≥ƒ ↔  

 ↑↓″〉 ⊄•≡ ≡♣…∂↔↔∂°± ←ƒ←↔≡″ ∂← ↔•≡± 

←↔↑↔≡≈ ±≈ ↔ ↔•≡ ↑∂÷•↔ ″°″≡±↔ ↔•≡ ″∂± 

↑≡×≡↑ ♦∂≥≥ ←♦∂↔…• ↔•≡ ″…•∂±≡ °±≥∂±≡〉

� ∪•↔ …↓…∂↔ƒ …± ⊂⇐← ≡ 

←♠↓↓≥∂≡≈ ↔◊ 

↑÷≡ ←ƒ±…•↑°±°♠← ÷≡±≡↑↔°↑←⌠ ″°↔°↑← °↑ 

…°±≈≡±←≡↑← …± ≡ ←♠↓↓≥∂≡≈ ∂± ↓°♦≡↑← 

↑±÷∂±÷ ≠↑°″  ↔°  ⊃⇒ ↔ � ×⊃ 

←ƒ←↔≡″ ♥°≥↔÷≡〉 ⊄•≡ ↓↑≡≠≡↑↑≡≈ ♥°≥↔÷≡ ∂←  

″↔↔≡↑ °≠ °↓↔∂″∂∞↔∂°±⌠ ←∂±…≡ ↔•≡ ±≡↔♦°↑× 

♥°≥↔÷≡ ∂← ♠←♠≥≥ƒ ″♠…• •∂÷•≡↑⌠ ←°  ←↔≡↓ 

♠↓ ↔↑±←≠°↑″≡↑ ∂← ♠←≡≈〉 ⋅∂÷•≡↑ °♠↔↓♠↔← 

↑≡ ↑≡…•≡≈ ƒ ♠←∂±÷ ←≡♥≡↑≥ ♠±∂↔← ∂± 

 ←↔±≈↑≈∂∞≡≈ ″°≈♠≥≡ …°±…≡↓↔〉 ⊄•∂← 

♥∂≥∂≥∂↔ƒ …°″↓↑≡≈ ↔° °±≡ ≥↑÷≡ ♠±∂↔〉

⊄•≡ …°±←↔↑♠…↔∂°± °≠ ↔•≡ ⊂⇐ ∂← ±°↔ 

←♠←↔±↔∂≥≥ƒ ≈∂≠≠≡↑≡±↔ ≠↑°″ ←ƒ±…•↑°±°♠← 

÷≡±≡↑↔°↑←  ←  ∂↔  ≠≡↔♠↑≡←    ←≥∂≡±↔  ↓°≥≡  ↑°↔°↑⌠  

↑♠←•≥≡←← ≡♣…∂↔↔∂°± ±≈ ≡↓°♣ƒ ↑≡←∂±∫∂±←♠≥↔≡≈ 

←↔↔°↑ ♦∂±≈∂±÷←〉 √↔ ∂← ♠←♠≥≥ƒ ♦↔≡↑ …°°≥≡≈⌠ ← 

↔•∂← ∂←  ↔•≡ ″°←↔ ≡≠≠≡…↔∂♥≡ ♦ƒ ↔° ≈∂←←∂↓↔≡ ↔•≡ 

•≡↔ ≥°←←≡← ±≈ ∂↔ ∂← ≈≡←∂÷±≡≈ ↔° ≡ ♠←≡≈ 

°♠↔≈°°↑ ∂± ≈∂≠≠≡↑≡±↔ ″∂≡±↔ …°±≈∂↔∂°±←〉

≈≡♥≡≥°↓″≡±↔ ±≈ ♦∂≈≡←↓↑≡≈ ↓↓≥∂…↔∂°± °≠ 

↑≡±≡♦≥≡← ↑≡∑

�   ∇≡↔♦°↑× ≠↑≡→♠≡±…ƒ ←↔∂≥∂∞↔∂°± ←♠↓↓°↑↔≡≈ 

ƒ ∂↔← ←↓∂±±∂±÷ ∂±≡↑↔∂ ↑≡←≡↑♥≡ 

�   ⇐°±↔↑∂♠↔∂°± ↔° ←ƒ←↔≡″ ←•°↑↔∫…∂↑…♠∂↔ …↓…∂↔ƒ⌠ 

″×∂±÷ ↔•≡ ±≡↔♦°↑× ″°↑≡ ↑°♠←↔ ÷∂±←↔ 

≠♠≥↔←

�   ∉↑°♥∂≈∂±÷ ♥°≥↔÷≡ ←♠↓↓°↑↔ ≈♠↑∂±÷ ↓↑°≥°±÷≡≈ 

♥°≥↔÷≡ ←÷← ±≈ ∂±↔≡↑↑♠↓↔∂°±← ↔•↑°♠÷• 

÷°°≈ ≠♠≥↔ ↑∂≈≡∫↔•↑°♠÷• …↓∂≥∂↔ƒ

�  ⊆≡…↔∂♥≡ ↓°♦≡↑ ←♠↓↓°↑↔ ±°↔ ≠≠≡…↔≡≈ ƒ  

 ±≡↔♦°↑× ♥°≥↔÷≡

�  ⋅∂÷• °♥≡↑ ≥°≈ …↓∂≥∂↔ƒ ≠°↑ ←♠←↔∂±≡≈  

 ↓≡↑∂°≈←〉

⊄•≡  ″°←↔  ∂″↓°↑↔±↔  ≠≡↔♠↑≡  °≠  ↔•≡  ⊂⇐⌠  ↓↑↔  

≠↑°″ ∂↔← ∂≥∂↔ƒ ↔° …°±↔↑°≥ ∂↔← ↔≡↑″∂±≥ ♥°≥↔÷≡⌠ ∂← 

↔•↔ ∂↔ ∂← ≥≡ ↔° ♠↔∂≥∂∞≡ ↔•≡ ≥↑÷≡ ×∂±≡↔∂… ≡±≡↑÷ƒ 

←↔°↑≡≈ ∂± ∂↔← ←↓∂±±∂±÷ ∂±≡↑↔∂ ↑≡←≡↑♥≡ ≈♠≡ 

↔° ↔•≡ ↑°↔↔∂±÷ ″←← °≠ ↑°↔°↑〉 ⊄•∂← ∂≥∂↔ƒ ∂← 

↑≡↓↑≡←≡±↔≡≈ ∂± ↔•≡ ∂±≡↑↔∂ …°±←↔±↔ ⋅ ⊗←ℜ⌠ ♦•∂…• 

∂←  ↔•≡  ↑↔∂°  °≠  ∂↔←  ×∂±≡↔∂…  ≡±≡↑÷ƒ  ←↔°↑≡≈  ±≈  

↓↓↑≡±↔ ↑≡…↔∂♥≡ ↓°♦≡↑ ≡∂±÷ ↓↑°≈♠…≡≈〉 

⊄•∂←  ∂←  ∂″↓°↑↔±↔  ≠°↑  ↔•≡  ±≡↔♦°↑×  ←↔♠≈ƒ  

±≈ ″°≈≡≥≥∂±÷⌠ ← ♦≡≥≥ ← °↔•≡↑ ⊂⇐∫↑≡≥↔≡≈ 

↓↑″≡↔≡↑←〉 ⊄•≡ ←↔♠≈ƒ …± ∂≈≡±↔∂≠ƒ ±≡↔♦°↑× 

∂←←♠≡← ±≈ ≈≡↔≡↑″∂±≡ ↔•≡ ≈≡←∂↑≥≡ ≠≡↔♠↑≡← 

°≠  ↔•≡  ⊂⇐〉  √±    ←↔≡↓∫ƒ∫←↔≡↓  ↓↑°…≡←←  ↔•≡←≡  

°↓↔∂″∂∞↔∂°±〉 ⊄•≡ ≈≡←∂÷±≡↑ …± ≈∝♠←↔ ♥↑∂°♠← 

↓↑″≡↔≡↑←  °≠  ↔•≡  ″…•∂±≡⌠  °↓↔∂″∂∞∂±÷  ∂↔  ≠°↑  

÷∂♥≡± ≥°…↔∂°±〉

√↔ ∂← ≡♣↓≡…↔≡≈ ↔•↔ ↔•±×← ↔° ↔•≡ ±≡≡≈ ↔° 

≈≈↑≡←← ±≡↔♦°↑× →♠≥∂↔ƒ ∂←←♠≡← ±≈ ↑≡≥∂∂≥∂↔ƒ⌠ 

±≈  ↔•≡  ±≡♦  …•≥≥≡±÷≡←  ♦•∂…•  •♥≡  …°″≡  

♦∂↔• ↑≡±≡♦≥≡←⌠ ↔•≡± ⊂⇐← � ↓°↔≡±↔∂≥≥ƒ ♦∂↔• 

  …°″∂±↔∂°±  °≠  ←↔↔∂…  ≈≡♥∂…≡←  �  ♦∂≥≥  ≡±∝°ƒ  

 ←♠←↔±↔∂≥ ↑≡∂↑↔• ∂± ↓↑°♥∂≈∂±÷  ↑°≈⌠ 

←°≥∂≈⌠ ≡…°±°″∂… ±≈ ≥°±÷∫≥←↔∂±÷ ←°≥♠↔∂°± ↔° 

∂±…↑≡←≡ ÷↑∂≈ →♠≥∂↔ƒ ±≈ ↑≡←∂≥∂≡±…≡〉

⇐← ⊂∞° ∂← ∉↑°≈♠…↔ ±÷≡↑ñ⊂↓≡…∂≥∂←↔ 

∂± ⊃ ±≈ ⋅⊃ ″°↔°↑← ±≈ ÷≡±≡↑↔°↑← ↔ ⇒⇑⇑ 

⇒♠←↔↑≥∂ 

⊃∂←∂↔ ♦♦♦〉∉°♦≡↑∨±÷∂±≡≡↑∂±÷√±↔〉…°″

≠°↑ ″°↑≡ ∂±≠°↑″↔∂°±

⊃°≥↔÷≡ ↓↑°≠∂≥≡ °± ⋅⊃ ♠←





    ⌡ 

⊃°≥↔÷≡ ↓↑°≠∂≥≡ °± ⊃ ♠← ♦∂↔•  

⊂⇐ ∂← …°±±≡…↔≡≈





    ⌡ 

        ⊂°♠↑…≡∑ ⇒⇑⇑


